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Chapter 11.3: Use Normal Distributions

p—3C u—26 p—o In pto put+2c pt3c X
-3 -2 -1 0 1 2 3

A normal distribution has mean x and standard
deviation ¢. For a randomly selected x-value
from the distribution, find P@— 2c §0§ X).
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The blood cholesterol readings for a group of
women are normally distributed with a mean of 172
mg/dl and a standard deviation of 14 mg/dI.

a. About what percent of the women have
readings between 158 and 1867
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b. Readings higher than 200 are considered

undesirable. About what percent of the readings
are undesirable?

The standard normal distribution is the
normal distribution with mean 0 and
standard deviation 1. A z-score transforms
x-values from a normal distribution with
mean X and standard deviation o into the
normal distribution.

Z_x—f
Tk =22
0 -2—27{0.9
o= P05
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Scientists conducted aerial surveys of a seal

TABLE A; STANDARD NORMAL PROBABILITIES (CONTINUED}
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April 09, 2014

sanctuary and recorded the number x of seals they

observed during each survey. The numbers of

seals observed were normally distributed with a
mean of 73 seals and a standard deviation of 14.1
seals. Find the probability that at most 50 seals

were observed during a survey.

2_:

50-)7%

(4.1

- —1.63
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Work: Chapter 11.3 pg.760
#'s 4-26e, 32,34
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